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QUESTION 1

You have two tables. Each table has three rows.

How many rows will be included in the Cartesian product of these two tables?
A.0

B.3

C.6

D.9

Correct Answer: D

QUESTION 2

You need to rename a column in a database table.

Which data definition language (DDL) statement should you use?
A ALTER

B. INSERT

C. CREATE

D. UPDATE

Correct Answer: A

QUESTION 3

Which command should you use to remove a table from a database?
A. REMOVE TABLE

B. UPDATE TABLE

C. DROP TABLE

D. DELETE TABLE

Correct Answer: C

QUESTION 4

You are developing a SQL query.
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Which two SQL constructs represent data manipulation language (DML) statements? Choose two.
A. SELECT EmployeeName FROM Employee WHERE EmployeeName = \\'Jack Smith\\';

B. INSERT INTO Employee VALUES (\\'Jack Smith\\")

C. ALTER TABLE Employee ADD EmployeeName Varchar;

D. CREATE ROW IN Employee WHERE EmployeeName = \\'Jack Smith\\’;

Correct Answer: AB

Data manipulation languages have their functional capability organized by the initial word in a statement, which is
almost always a verb. In the case of SQL, these verbs are:

SELECT ... FROM ... WHERE ... (strictly speaking DQL)
SELECT ... INTO ...

INSERT INTO ... VALUES ...

UPDATE ... SET ... WHERE ...

DELETE FROM ... WHERE ...

References:

https://en.wikipedia.org/wiki/Data_manipulation_language

QUESTION 5

You have two database tables as defined below. The StateID column is unique in the State table. The AddressID
column is unique in the Address table. The two tables are related by the StatelD column.

M State = F Address ]
|* (All Columns) |* (All Columns)
| StatelD = | AddressiD
|Name S k\ |StreetAddress
| Abbrevation |City
“S= |[ JstatelD
|PostalCode

Instructions: Use the drop-down menus to select the answer choice that completes each statement. Each correct
selection is worth one point.

Hot Area:
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Answer Area
StatelD is a/an [answer choice] in the State table.

StatelD is a/an [answer choice] in the Address table,

Correct Answer:

Answer Areg
StatelD is a/an [answer choice] in the State table.

StatelD is a/an [answer choice] in the Address table,
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